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Corrections to the text 

P. 45 

Example 7 

The matrix 
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P. 149 

The sentence after problem 36 should read: In Exercises 37-42, (a) compute the projection w of u on v and (b) then find p = u - w and show that p is perpendicular to x.  

P. 179 

The last sentence of the first paragraph should read: This is illustrated in Figure 3.15. 

P. 180 

Example 1 

This example should read: In Figure 3.15a neither v1 nor v2 is a multiple of the other, so they are linearly independent (and their span is a plane). In Figure 3.15b v2 is a multiple of v1, so v1 and v2 are linearly dependent (and their span is a line). 

P. 202 

The first sentence should contain the matrix 
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P. 261 

Problem 41 should read: By choosing the correct vectors u and v in the Cauchy-Schwarz inequality, prove that ... 

P. 291 

In the Solution, after the word where, q2 is given twice. The second one should read: q3 =  . 

P. ANS.3 

Section 1.4, #7  The entry E(3, 3) should be 1, not –1.

P. ANS.4 

Section 1.4, #43  Interchange 
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P. ANS.8 

Chapter One Review, #15, Part (b)  The (2, 2) entry should be 0, not 1. 

P. ANS.19 

Section 4.2, #41. This is actually the answer to #42. 

The answer to #41 should read: u = (1,1,...,1), v = 
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P. ANS.28 

Section 5.4, #19 

The (3, 3) entry of the second matrix should be 
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